L XUz QA CAT) LB = A [t
| .T_W@ rewl T/’\ok Qe s ﬂlwh e




| C&gké%%~4g[6%+eﬂﬂ) b= J(eﬁ, %)

A s () ) 5"/)4-/1,#))4

x=Ph ) y=g(4£)  elnsake He /mw/e,\@gy B

Y= FO) Wl U= PR -
. g7H= FIGHD LD chon
P = 2768 &’k/SJuzm Pk £0 |
2 R |
é/?;sd/ s g_;?,fiéoA

C X=sand >/~ cas(}é) B -
. = costh)




N »
C/ bty e —= ) /
X o> Q/fﬁ’ o = A@fVZ() /’\OZ@/ %W

j”
Q/ZL L= . VeRr P el 7 // N

X =47 = 7t% oL

— /7 7»71(76
A A 7
7 LA = x (=77 .

b_ak 4




I ax Udx/T T )
o+ LN

ﬁ@{lyﬁé “QX//%) _ (d Zy ;C/;Z )) #MM ~(d Wéc J

A dy O/X = (N ) éo/x/&f‘) &/x B d x/#) |
| o (_x/o/zf) - .

’_"‘f._'_féiéw Cx=4" = AT o

I Sy G- T R I S w §€
%? @%M%@ C&N%-;{i.é%+zq %#%7_m

A

) e 20 COV\L@V‘& U/ﬂ e




pxfie) bl

| Aﬁsujva(w zbf%}{s graph 3 Irared jud onge ) e,

> S’JL}’I\C/‘IL& H/LCW{&\,S " O CC/) Clj)
Area = S0 BT dy= 5& yC/Xrgc o UIPICh) If

ex  The Cye lord X=r (6 —sm6)

| | y= rll-cos@)
S~ brn £ — reese

G0 &:p?fﬁuw o J& -

A reo= gnyo/_x = 50 M= Cos®) ¢ ~Cl~cos ) O

=1 gg* C/* (o3 9)(&40/6 = r*ajjﬁ/*Q cost tcos Bl
rh Sy 1=2esO +dCbeos A do

—

—

=L O R Qene sdtorderw) [

A




ye bces9 -Nd L0OSp/d

L dx=hewsedo T
e R @

A = S Ydx =S e besbiacosd o

z} 2ol I (1 #wsta8d),3 J§L R

wa L 5’ +Sin 62(9)) /m“/ A e e
=T

7&19(. ) = - e

Cor 58, ydx = 5y dy =




